%1073

o ]
107 1

= 0.2 —_
g ATk :
20.15 £0.15F R SRR X RESIR
S o C : +
o o H
© 04 v 01 :
0.05 0.05f
0 O :
-0.05 -0.05F §
_01 _01:_ A :
-0.15 -0.15F :
9_02 9_02: " M ||! " ||“:"! o, "
g R R I R i 1‘ ¥
o I WL E :
0.5 0.5F -« {f-1-3-- A H |+
s 1 |
02 10°
TP (PCAt%beamIinef)

2 3
TPlpoT (PCA t%obeamlinélf)
—=— DQM_TT__ORIGINAL

—e— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2
—— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL3

o
o )
T T

1

[ay
o
I8

2 3
TPl[g)T (PCA f%)obeamlinép

o
X
=
AN
b A e
o
2
—
o
o ] 1
V -
]
Y

.............................

Ratio

N E 3 . e eeeeeeaaaaan




	Contents
	Page 1


